normalized X2

107}
1072

107

Ratio

< x2/ ndf >

Ratio

[ normalized x? probability |

1653375
0.5454

0 2 4 6 8 10 12 14 16 18 20

X2

0.10.2030405060.70809 1
Prob(x?)

=== DQM_CKF_TTbase

== DQM_CKF_TT_retrainOldFiles125_v2_prelimWP_epoch4

RV

i o
1 -* {# -’"‘Eﬂim#{’ +'H+'++"f5+"+ﬂﬂ+';' ;'*Mf‘g’“‘ : +++

1

S
A 0.8
-
2 06
Qb—
S 04
Vo2

T
23 2 -1 0 1 2 3
n

<dpp. > (%)

10%

0 2 3
TP n (PCA to beamline)

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, ]et?



	Contents
	Page 1


